MEENEBRAS
HANGZHOU BAIQUAN
ELECTROMECHANICAL CO.,, LTD.

taht: FNBRLSFRATFRRE#E1008
E3iE: 0086 13588175767
Bf%: sales@cnspeedway.com

Fitk: www.cnspeedway.en.alibaba.com www.buyall.en.alibaba.com




PO1

CARDAN JOINT THEORY

P02

CARDAN JOINT THEORY

The PTO drive shaft for agricultural applications consists of two cardan joints and a telescopic coupling. The
cardan Joint,consisting of two yokes and a cross,is the element used to transmit the motion between two tilted
axles. The cardan joint construction is designed so that during rotation,the speed of the output shaft is not
always equal to that of the input shaft and this difference in speed depends on the articulation angle of the joint
(Fig.1).The transmission ratio versus the articulation angle and the rotation angle is represented in Fig. 2.The
more the ratio deviates from 1 the greater becomes the irregularity of the motion, thus generating undesirable

effects(vibrations,noise, inertial stress).

Fig.1

06
%0 W 360
Fig.2
Instantaneous transmission ratio
a=articulation angle B=rotation angle
Tel E-mail

The standard PTO drive shaft consists of two cardan joints. The irregularities of the single joints thus can be
cancelled or mutually combined. When the articulation angles of the two joints are equal (see configuration W
or Z in Fig.3) the transmission is uniform,i.e.The speed of the output yoke is always equal to the speed of the
input yoke,thus eliminating the undesirable effects. In all the other angulations(Fig.4),an irregularity always

remains that can be evaluated with the graph on the following page (Fig.5).

Fig.4

Tel: +0086-135-88175767 E-mail: sales@cnspeedway.com  autotradebiz@163.com



P03

CARDAN JOINT THEORY

P04

CARDAN JOINT THEORY

Irregularity"i*of the motion depends on the articulation of the two cardan joints and on the difference between
the articulations of the two joints (see the example:with angular difference being equal,the irregularity is

greater if the articulations of the single joints are greater).

Generallypermissible

values, depending on

b the masses in volved.
i Allowable at 540rpm

i Allowable at 1000rpm __ ="

Example:
0",0224",at-a:

Fig5

Tel Email

The CVJ (Constant Velocity Joint) is a double universal joint with a centering system that equally divides the
articulation angle between the two yokes (W configuration).The speed of the output yoke is always equal to the
input speed and there are no rotation irregularities.In a PTO drive shaft with a CVJ joint and a standard joint
(Fig.6),the total irregularity is caused only by the standard joint,that therefore must work with small articulation
angles.For high work angles at the two ends of the shaft,two CVJ joints must be used (Fig.7).The CVJ joint can
work with high articulation angles only for brief periods (ex.:while steering) Absolute quality And reliability of
the CVJ construction are ensured by the ball bridge welded to the yoke which considerably reduces stress and
consequently wears in the ball-cylinder contact zone and in the splined coupling between the shatt and the

yoke.

Fig.6 Fig.7

Tel 75767 E-mail




P05 ) ) P06

THE STRUCTURE OF PTO SHAFT THE STRUCTURE OF PTO SHAFT

End yoke for tractor side Inner shield tube

Cross kit

Inner shield cone Spring pin

Inner shield bearing

‘ot

Outer tube yoke
= i
S - "Q/' \ L
5B
L A =)
i
8
l | Safety chain
Inner tube
|
U-joint
Inner tube yoke
Outer tube
Booklet
Cross kit
L_Pin kit End yoke for implement side
Outer shield bearing Safety chain
Outer shield cone

Tel E-mail . Tel E-mail




P07

P08

PTO DRIVESHAFT T SERIES

T2

T3

T4

T5

T6

T7

1.01
(22*54)
2.01
(23.8'61.3)
3.01
(27°70)
4.01
(27°74.6)
5.01
(30.2*80)
6.01
(30.2'92)
701
(302106.5)
7N.01
(35°94)
801
(35106.5)
38.01
(38°105.6)
9.01
(41*108)

10.01
(41*118)

5 7 g
I
Joint simple Splined
yoke
Outer Inner

1.0505B+1.01
+1.06
2.0505B+2.01
+2.06
3.0505B+3.01
+3.06
4.0505B+4.01
+4.06
5.0505B+5.01
+5.06
6.0505B+6.01
+6.06

7.0505B+7.01
+7.06

7N.0505B+7N.
+7N.06
8.0505B+8.01
+8.06
38.0505B+38.1
+38.06
9.0505B+9.01
+9.06
10.0505B+10.

+10.06

Tel

1_‘0‘3258&1.01 1.05058
3.203355*4 0" 205058
’;12131;58«3.01 3.0505B
:403(;55‘4»0' 4.05058

5.05058+5.01
e 5.05058

6.0505B+6.01
s 6.05058

7.05058+7.01
izt 7.05058
.01 7N.0505B+7N.01
e 7N.05058
8.05058+8.01
+8.07 8.05058

01  38.0505B+38.01
+38.07 38.0505B
9.0505B+9.01
Too7 9.05058
01  10.0505B+10.01
+10.07 10.05058

Tube yoke Tube
Outer Inner Outer Inner
U g "aYa
=g — g &

5 6 7 8
106 1.07 103  1.04
206 207 2.03 204
306 307 3.03 3.04
406 407 403  4.04
506 507 503 504
6.06 607 6.03 6.04
706 7.07 7.03 7.04
TN.06 7N.07 7N.03 7N.04
806 807 803 8.04
38.06 38.07 38.03 38.04
9.06 9.07 9.03 9.04
10.06 10.07 10.03 10.04

5767 E-mail

Series

T

T2

T3

T4

T5

T6

T7

22

26

35

a7

55

55

70

78

88

106

PRODUCT INTRODUCTION

Operating torque
Sdﬂ:n;nin N | 1000tr./min
Pk Nm Kw Pk
16 210 18 25
21 270 23 31
30 390 35 47
35 460 40 55
47 620 54 74
64 830 74 100
75 970 87 118
75 970 87 118
95 1240 110 150
105 1380 123 166
120 1560 140 190
145 1905 170 230
588175767 E-mail

330

380

520

710

830

1050

175

1340

1650

wp
(NM)

320
450
640
780
1050
1450
1800
1800
2250
2500
2800

3500



P09 ) P10

PTO DRIVESHAFT L SERIES PTO DRIVESHAFT L SERIES

PRODUCT INTRODUCTION

7 8

Joint simple Splined Tube yoke Tube Operating torque
Series Cross n— Y y A na B /W BNE
| Outer Inner Outer "'“"“ 540tr./min 1000tr./min -
(NM)
Iv—j Kw Pk Nm Kw Pk Nm
o)
= L1 12 16 210 18 25 172 320
L2 15 21 270 23 31 220 450
1 2 3 4 5 6 7 8
13 22 30 390 35 a7 330 640
1.01 1.0505B+1.01  1.0505B+1.01
L |povsny | ioer e 105058 1.06L 1.07L 1.03L 1.04L
2,01 2.05058+2.01  2.0505B+2.01 i < g2 4c gl =8 e 7%
i 05058+ 05058+2.
L2 (23.8'61.3) +2.06L 2.07L A |l |
L5 35 47 970 54 74 520 1050
3.01 3.05058+3.01  3.0505B+3.01
18 [eore 3.05058 3.06L 3.07L 4.03L 4.04L
(27570); _[-+8106L k207 L6 47 64 830 74 100 710 1450
4.01 4.0505B+4.01  4.0505B+4.01
L4 @27°74.6)  +a.06L +4.07L e 132 39 53 695 61 83 580 1200
5.01 5.05058+6.01  5.05058+5.01
L5 (30.280)  +5.06L 5.07L 5.05058 5.06L 5.07L

O oRRagi LN Ceenic Ol N6 Tososs M6 e Mitalo7if] 6.03L | 6.041

6.01
L6 (30.2:92)  +6.06L
L3z 3201 32.0505B+32.01  32.0505B+32.01
(32°76) +32

252,068 32.0505B 32.06L 32.07L

Tel: +0086-135-88175767 E-mail: sales@cnspeedway.com autotradebiz@163.com Tel: +0086-135-88175767 E-mail: sales@cnspeedway.com autotradebiz@163.com



P11

P12

PTO DRIVESHAFT S SERIES

Series,

Cross

6.01
(30.2'92)

7.01
(30.2*106.5)

801
(35'106.5)
38.0
(38*105.6)

2400
(32'76)

2500
(36'89)
9.01
(41*108)
10.01
(41*118)
2600
(42*104.5)
48.01
(48*127)

50.01
(50*118)

Joint simple

Outer

Inner

6.0505B+6.01
+6.06S

7.0505B+7.01
+7.068

8.0505B+8.01
+8.06S

38.0505B+38.01
+38.06S

32.0505B+32.01
+32.06

36.0505B+36.01
+36.065

9.0505B+9.01
+9.065
10.0505B+10.01
+10.068
42.0505B+42.01
+42.06S

48.0505B+48.01
+48.06S

50.0505B+50.01
+50.065

6.05058+6.01
6.07S
7.0505B+7.01
7.078
8.0505B+8.01
8.07S
38.0505B+38.01

+38.07S

32.0505B+32.01
+32.07S

36.0505B+36.01

+36.07S

9.0505B+9.01

+9.07S

10.0505B+10.01
10.07S

42.0505B+42.01

7S

+42.0

48.0505B+48.01
+48.07S

50.0505B+50.01
+50.07S

Splined
yoke

o

6.05058
7.05058
8.05058
38.05058
32.05058
36.05058
9.05058
10.05058
42.05058
48.05058

50.05058

Tube yoke

Outer Inner

6.06S 6.07S
7.06S 7.07S
8.06S 8.07S
38.06S 38.07S
32,06 32.07S
36.065 36.07S
9.065 9.07S

10.068 10.078

Tube.

Outer Inner

6.03ST 6.04ST

42.06S 42.07S 10.03ST 10.04ST

48.06S 48.07S

50.06S 50.07S

E-mail

S6

s7

s8

Kw

a7

55

70

78

39

66

88

106

79

133

119

Tel:

Pk

Operating torque
Nm Kw
830 74

970 87

1240 10
1380 123
695 61

1175 102
1560 140
1905 170
1400 122
2390 205
2095 182

PRODUCT INTRODUCTION

1000tr./min

Pk

100

118

150

166

83

+0086-135-88175767 E-mail: sales@cnspeedway.com  autotradebiz@163.com

Nm

710

830

1050

175

580

975

1340

1650

175

1958

1740

MP
(NM)
1450
1800
2250
2500
1200
2000
2800
3500
2500
4200

3700



P13 ) P14

PTO DRIVESHAFT G SERIES PTO DRIVESHAFT G SERIES

PRODUCT INTRODUCTION

(s ]| E— — ;
: | |

il 5 7 8 6

Joint simple splinea  TobeYOKe Tube
Series  Cross yoke i
Outer Inner Outer Inner Outer Inner
— Operating torque
4 540tr./min 1000tr./min MP
Series i
Kw Pk Nm Kw Pk Nm
1 2 3 4 5 6 7 8 62 15 21 270 23 31 220 450
2.01 2.05058+2.01  2.05058+2.01
G2 (33.8'61.3) +2.066 12,076 2.0505B 2.06G 2.07G 50X2.5 G35-18 G4 26 35 460 40 55 380 780
4.01 4.0505B+4.01  4.0505B+4.01 s 35 47 620 54 74 520 1050
G4 G7ram) | tese e 4.0505B  4.06G 4.07G 50X2.5 G35-18
5.01 5.0505B+5.01 5.0505B+5.01 G6 47 64 830 “ 100 710 1450
85 | %i02'a0) | 35 00n oS0tk 505058 5.06G 5.07G
o7 55 75 970 87 118 830 1800
6.01 6.0505B+6.01  6.0505B+6.01
Ll T e 6.0505B 6.06G 6.07G 60X3 G40-14
o rosorseror | ooenon 8 70 95 1240 110 150 1050 2250
105058+ 105058+
G7  (3021065) +7.06G +7.07G FERaUSEH [ 7By mior S
c38 78 105 1380 123 166 175 2500
) e s | e ca2 79 107 1400 122 166 175 2500
o1 65X3.5 G45-16
i 38.0505B+38.01 | 38.0505B+38.01
G38 |(33105.6) | +38.06G +38.07G H8,05008 [20.005 8207 650 119 162 2095 182 248 1740 3700

42.0505B+42.01 ﬁ‘zunsosawz.m 42.05058 42.06G 42.07G

2600
G42 (42104.5) +42.06G
S0i0 75%4 G55-20

i 50.05058+50.01 | 50.05058+50.01
650 | S50118) | o oee by 50.05058 |50.06G 50.07G

Tel Email Tel 75767 E-mail




P15 ) ) P16

CROSS KIT CROSS KIT

o <
Series ‘ A(mm) ‘ B(mm) [ C(mm) Series ‘ A(mm) ] B(mm) l C(mm) ‘ D(mm)

1.01 22 54 12 JH32.01 32 57 92 15
2,01 238 61.3 1.2 JH38.01 38 57 101 3
3.01 27 70 12

4.01 27 74.6 12

5.01 30.2 80 15

32,01 32 76 15 A T

€]
6.01 30.2 92 15 !
j
7.01 30.2 106.5 15
s
7N.01 35 9 16
T

8.01 35 106.5 15 ‘ Series [ A(mm) [ B(mm) C(mm) [ D(mm) [ E(mm) [ F(mm)
38.01 38 105.6 15 2WA.01 238 61.3 22 76 12 12
36.01 36 89 1.5 4WA.01 27 74.6 238 91 i a2
9.01 g 108 1.75 6WA.01 30.2 92 27 100 15 12
10.01 g 18 1.75 8WA.01 35 106.5 30.2 106 15 15
42.01 42 104.5 1.75 32WA.01 32 76 27 % 15 12
48.01 48 127 1.75 36WA.01 36 89 32 106 1.5 15
50.01 50 118 2 42WA.01 42 104.5 36 124 1.75 15

Tel E-mail Tel 75767 E-mail



P17 ) P18
TUBE TUBE
TRIANGULAR TUBE LEMON TUBE

[ ]

Outer

,

1.03 4 1.04
.

2.03 361 2.04

3.03 3.04
.

,

4.03 4.04
.

6.03 536 6.04
‘

8.03 627 8.04
A

9.03 62,7 9.04

series |

Cross Kit

1.03L

2.03L

3.03L

4.03L

5.03L

6.03L

32031

1.04L

2.04L

3.04L

4.04L

7.04L

6.04L

32.04L

75767 E-mail




[0 )

b Jlibabs P20
TUBE TUBE
STARTUBE . GEARTUBE
[ \\ &
" Series. Cross Kit
i 2 2.046
Series  CrossKit | Outer Inner NG
3 3.046 3
6
21 75030
4 4.046
7
5 5.04G
&
o 5
N 6 6.04G H
27 o Zi30a iz 65030
6.03ST = 6.04ST o e
5 4
B N 7N.04G
Ee 8 8.04G
&
36 36.04G X
38 3
38 38.04G g
Zis(is M5 020
9
9 9.046
10 10 2 fsE 10.04G
10.03 o 1004 = 241
ST s ST 42 g 42.04G
. How [
15 . 48 foje iy 48.04G § 7%{,///'
& 7
50 o ;@H Ehioic Z1920-)M2 5 230"
How
o E-mail o




P22

P21
TUBE TUBE
RECTANGULAR TUBE HEXAGONAL TUBE
Series | Cross Kit Series. Cross Kit [ Outer Inner
1 B .TEHA 1.03R 1.04R 9 &
Llen 40HP HT.03T1 HT.04T1 =
023
o )
2 2| i 2.03R 2.04R
. o238
3 = 3.03R 3.04R
50HP
oz1
f
4 - 4.03R 4.04R
oz
s H 80HP HT.03
5 : 5.03R 5.04R
o0z
s
6 & 6.03R 6.04R
L os02 1
ey
= 90HP. { N
32 2 T 3203R 3204R e

032

Email

E-mail



P23 ) P24
SAFTY SHIELD SAFTY SHIELD
SHIELD | SHIELD 11l

T 48.5 54 34 40
2 61 66.5
34 61 66.5 B1:Black
5 75 81 Yi:Yellow ‘
6/7/8 75 81
42148150 90 9%
SHIELD Il

[ & & M) & o

s 48.5 54 34 40
2 61 66.5 40 47

3/4 61 66.5 46 53 BlI:Black

Yl:Yellow

5 75 81 54 62 YBIl:Yellow+Black
6/7/8 75 81 59.5 68.5
42/48/50 90 96 69.5 81.5
Tel: Email:

==t

1 48.5 54 34 40
61 66.5 40 47
314 61 66.5 46 53 Blll:Black
5 75 81 54 62 Yill:Yellow
6/7/8 75 81 59.5 68.5
42/48/50 90 96 69.5 81.5
SHIELD WA

61 66.5 46 53 17 210 BWA:Black
6/32/36 75 81 595 685 123 225 YWA:Yellow
8 75 81 62.5 725 127 245 YBWA:Yellow+Black

SHIELDN

314 61 66.5 46 53 BN:Black
75 81 54 62 YN:Yellow
6/7/8 75 81 59.5 68.5
42 920 96 69.5 81.5

Tel: E-mail:




P25

PUSH PIN & TAPER PIN

P26

SPRING PIN&SAFETY CHAINS

Reference L(mm) [ Drawings }
00.0201x47 a7
00.0201x44.5 445 e
o] {-—- == o
00.0201x59 59 —. |
00.0201x56 56
00.0202+76.5 76.5
00.0202+68 68
014 0
00.0202x73 73
00.0202+83 83
00.0202+85 85
o[ = M6
00.0202+88 88
00.0203x85 85 o [f--— ] -Wlf
00.0204x69 69 “‘”::E =3 W B
L:Ej
R
00.0205%43 13 €+ W 014 [ |
00.0206x54 54 8
00.0207x85 85 2 s i
00.0208+85 85 : i -
s [ {]
00.0208x77 77 - K -
00.0209%91 o1 01“6?&\‘35@
00.0210x77 77 .
ou -EH MG
— 3
00.0210x75 75

Tel E-mail:

For Tube [

1.04
2.04
3.04
4.04
5.04
6.04
7.04
8.04

A(mm)
45
50

SAFETY CHAINS

B(mm)

8

Email

8



P27

CODE EXPLANATION

P28

YOKE

For example

— 4.0505B — 4FFV1

1: The Types of Tubes(e.g

2:The Series of Cross Kits

3: The Code of Color (YB=VYellow+Black)
4: The Code of Safety Shield Structure
5: Connection Method: Pin Connected
6: The Tractor End Yokes

7: The Implement End Yokes

8;

: Minimum Overall Length

CODE FOR U-JOINT

For example

4.0501B + 4.01 + 4.06

! | !

i 2 3

1:One end yoke
2: The series of cross kits
3:The other end yoke

Tel: +0086-135-88175767 E-mail: sales@cnspeedway.com autotradebiz@163.com

;

4.0501B+4.01+4.06

TUBE AND SPLINED YOKE

OUTER TUBE YOKE-06
INNER TUBE YOKE-07

OUTER TUBE YOKE-06L
INNER TUBE YOKE-07L

OUTER TUBE YOKE-06ST
INNER TUBE YOKE-07ST

SPLINED YOKE 01
-PUSHPI

N

SPLINED YOKE 02
-INTERFERING BOLT

SPLINED YOKE 03

“NON-INTERFERING BOLT

SPLINED YOKE 04
-BALLATTACHMENT

SPLINED YOKE 05
-PUSHPIN

‘SPLINED YOKE 07
ISHPIN

SPLINED YOKE
08-PUSHPIN

SPLINED YOKE 11
-DOUBLE PUSH PIN

SPLINED YOKE 13
-COLLAR

Tel: +0086-135-88175767 E-mail: sales@cnspeedway.com  autotradebiz@163.com

T Lreoceeou?

PLAIN BORE YOKE

PLAIN BORE YOKE A
“PINHOLE

PLAIN BORE YOKE B
-KEYWAY

PLAIN BORE YOKE C
-KEYWAY &
THREADED HOLE
PLAIN BORE YOKE D
KEYWAY &

CLAMP BOLT

PLAIN BORE YOKE £

-MULTIPLE PIN HOLES

PLAIN BORE YOKE F
-VERTICAL PIN HOLE

PLAIN BORE YOKE H
“PINHOLE &
THREADED HOLE

ROUND HOLE YOKE
FOUR CORNER

oo



PR9 . P30
YOKE YOKE
TRIANGULAR YOKE LEMON YOKE
c
Series A(mm) B(mm) C(mm) D(mm) Series A(mm) ; B(mm) C(mm) D(mm) E(mm)
1.06 22 54 7 324 1.06L 22 54 77 30 39
1.07 22 54 i 26.6 1.07L 22 54 iz 23.7 30.8
2.06 23.8 61.3 82 36.1 2.06L 238 61.3 82 41.2 48
2.07 238 61.3 82 29 2.07L 238 61.3 82 345 40.1
3.06 27 70 90 43.4 3.06L 27 70 90 41.2 48
3.07 27 70 90 36.1 3.07L 27 70 90 34.5 40.1
4.06 27 74.6 90 43.4 4.06L 27 74.6 90 41.2 48
4.07 27 74.6 90 36.1 4.07L 27 74.6 90 345 40.1
5.06 30.2 80 98 51.3 5.06L 30.2 80 98 48 57.5
5.07 30.2 80 98 447 5.07L 30.2 80 98 39.5 49
32.06 32 76 98 51.3 32.06L 32 76 98 48 57.5
32.07 32 76 98 447 32.07L 32 76 98 395 49
6.06 30.2 92 104 53.6 6.06L 30.2 92 104 48 57.5
6.07 30.2 92 104 447 6.07L 30.2 92 104 39.5 49
7.06 30.2 106.5 17 53.6 7N.06L 35 94 106 48 57.5
7.07 30.2 106.5 17 447 7N.07L 35 94 106 39.5 49
7N.06 35 94 106 53.6 36.06L 36 89 106 48 57.5
7N.07 35 94 106 447 36.07L 36 89 106 39.5 49
36.06 36 89 106 53.6
36.07 36 89 106 44.7
8.06 35 106.5 121 62.7
8.07 35 106.5 121 53.6
38.06 38 105.6 121 62.7
38.07 38 105.6 121 53.6
9.06 a1 108 130 62.7
9.07 41 108 130 53.6
10.06 a1 118 125 62.7
10.07 a1 118 125 53.6

Tel

+0086-135-88175767 E-mail: sales@cnspeedway.com  autotradebiz@163.com

Tel:

+0086-135-88175767 E-mail: sales@cnspeedway.com autotradebiz@163.com



P31 T P32
YOKE YOKE
STAR YOKE GEAR YOKE

Series A(mm) ‘ B(mm) C(mm) D(mm) Series A(mm) ‘ B(mm) C(mm) D(mm)

6.06ST 30.2 92 104 56.8 2.06G6 238 61.3 82 50

6.07ST 30.2 92 104 47.4 2,076 238 61.3 82 5

7.06ST 30.2 106.5 17 56.8 4.06G6 27 74.6 90 50

7.07ST 30.2 106.5 17 47.4 4.07G6 27 74.6 90 35

8.06ST 35 106.5 121 56.8 5.06G 30.2 80 98 60

8.07ST 35 106.5 121 47.4 5.07G 30.2 80 98 40

7N.06ST 35 94 106 56.8 6.06G 30.2 92 104 60

7N.07ST 35 94 106 47.4 6.07G 30.2 92 104 40

32.06ST 32 76 98 56.8 7.06G 30.2 106.5 17 60

32.07ST 32 76 98 47.4 7.076 30.2 106.5 17 40

36.06ST 36 89 106 56.8 8.06G 35 106.5 121 65

36.07ST 36 89 106 47.4 8.06G 35 106.5 121 45

9.06ST a1 108 130 67.5 38.06G 38 105.6 121 65

9.07ST 41 108 130 56.8 38.07G 38 105.6 121 45

10.06ST a1 118 125 67.5 42.06G 42 104.5 130 75

10.07ST 41 118 125 56.8 42.07G6 42 104.5 130 55

42.06ST 42 104.5 130 67.5 50.06G 50 118 133 75

42.07ST 42 104.5 130 56.8 50.07G 50 118 133 55

50.06ST 50 118 133 67.5

50.07ST 50 118 133 56.8

E-mail

E-mail




P33

YOKE

P34

YOKE

SPLINED YOKE 01-PUSH PIN

Series
1.0501B
2.05018
3.05018
4.05018
5.05018

32.0501B
6.05018
7.0501B
8.05018

38.0501B

SPLINED YOKE 02-INTERFERING BOLT

g

Series.
1.05028
1.0502D
1.0502G
2.05028
2.0502D
2.0502G
3.05028
3.0502D
3.0502G
4.05028
4.0502D
4.0502G6

A(mm)

A(mm)

22

106.5
106.5
105.6

B(mm)

54

C(mm)

93

102

108

108

D(mm)

78

21

D(mm)
21
21
21
21
21
21
21
21
21
21

E(mm)
n

Email

=3

E(mm) F

22 13/8'Z6

3
13/8"26
13/8" 221
8-32x38x6
13/8"26
13/8" 221
8-32x38x6
13/8"26
13/8" 221
8-32x38x6
13/8"26
13/8"221
8-32x38x6

Series
5.05028
5.0502D
5.0502G
32.0502B
32.0502D
32.0502G
6.05028
6.0502D
6.0502G
6.0502C
6.0502E
7.05028
7.0502D
7.0502G
36.05028
36.0502D
36.0502G
36.0502C
36.0502E
7N.05028
7N.0502D
7N.0502G
7N.0502C
7N.0502E
8.05028
8.0502D
8.0502G
8.0502C
8.0502E

SPLINED YOKE 02-INTERFERING BOLT

A(mm) B(mm) C(mm) D(mm) E(mm)

21

30.2 80 108 21
22.8
21

32 76 108 21
228
21

118

23
30.2 92 228
18 26

22
21

30.2 106.5 130 25
228
122 21 21
36 89 228

122 21
26
21

122 21
35 9 228
122 21 26
21

130 25
35 106.5 228
130 25 26

Tel 75767 E-mail

F
13/8"26
13/8" 221
8-32x38x6
13/8"26
13/8" 221
8-32x38x6
13/8"26
13/8"221
8-32x38x6
13/4"26
13/4"220
13/8"26
13/8"221
8-32x38x6
13/8"26
13/8"221
8-32x38x6
13/4"26
13/4"220
13/8"26
13/8" 221
8-32x38x6
13/4"26
13/4"220
13/8"26
13/8" 221
8-32x38x6
13/4"26
13/4"220



P35

YOKE

P36

YOKE

SPLINED YOKE 03 -NON-INTERFREING BOLT

Series.
1.05038
1.0503D
2.05038
2.0503D
3.05038
3.0503D
4.05038
4.0503D.
5.05038
5.0503D
32.05038
32.0503D
6.05038
6.0503D
7.05038
7.0503D
7N.05038
7N.0503D
8.0503B
8.0503D
8.0503C
8.0503E
36.05038
36.0503D

A(mm)

22

238

a7

27

30.2

32

36

B(mm)

54

106.5

C(mm)

93

102

108

108

108

108

118

130

122

130

130

122

D(mm)

25

et

"

25

25

25

25

Email

B
13/8"26
13/8" 221
13/8"26
13/8"221
13/8"26
13/8" 221
13/8"26
13/8"221
13/8"26
13/8" 221
13/8" 26
13/8" 221
13/8"26
13/8" 221
13/8"26
13/8"221
13/8"26
13/8" 221
13/8"26
13/8" 221
13/4"26
13/4"220
13/8"26
13/8" 221

6.0504E

A(mm) B(mm)  C(mm) D(mm) E(mm)
22 54 100 26 13
23.8 61.3 102 26 13
o7 70 11 26 13
27 74.6 RAE] 26 13
30.2 80 17 26 13
32 76 17 26 13
123 26 13
30.2 92
148 34 16
30.2 106.5 137 26 13
35 94 123 26 13
130 26 13
35 106.5
159 34 16
Tel 75767 E-mail

SPLINED YOKE 04-WITH BALL ATTACHMENT

B

F
13/8"26
13/8"221
13/8"26
13/8"221
13/8"26
13/8"221
13/8"Z6
13/8"221
13/8"26
13/8"221
13/8"26
13/8"221
13/8"26
13/8"221
13/4"26
13/4'220
13/8"26
13/8"221
13/8"26
13/8"221
13/8"26
13/8"221
13/4"26
13/4'20



P37

YOKE

P38

YOKE

SPLINED YOKE 05-PUSHPIN

Series
1.05058
1.0505D
1.0505G
2.05058
2.0505D
2.0505G
3.05058
3.0505D
3.0505G
4.05058
4.0505D
4.0505G
5.05058
5.0505D
5.0505G
32.0505B
32.03205D
32.03205G
6.05058
6.0505D
6.0505G
7.05058
7.0505D
7.0505G
36.05058
36.0505D
36.0505G
7N.05058
7N.0505D
7N.0505G
8.05058
8.0505D
8.0505G

A(mm)

B(mm)

54

106.5

106.5

C(mm)

93

99

102

108

17

119

119

_ D(mm)

21

E(mm)

5767 E-mail

W &=

F
13/8"26
13/8" 221

8-32X38X6
13/8"26

13/8" 221

8-32X38X6
13/8"26

13/8" 221

8-32X38X6
13/8"26

13/8" 221

8-32X38X6
13/8"26

13/8" 221

8-32X38X6
13/8"26

13/8"221

8-32X38X6
13/8"26

13/8" 221

8-32X38X6
13/8"26

13/8"221

8-32X38X6
13/8"26

13/8" 221

8-32X38X6
13/8"26

13/8" 221

8-32X38X6
13/8"26

13/8" 221

8-32X38X6

Series
1.05078
1.0507D
1.0507G
2.05078
2.0507D
2.0507G
3.05078
3.0507D
3.0507G
4.05078
4.0507D
4.0507G
5.05078
5.0507D
5.0507G
32.0507B
32.0507D
32.0507G
6.05078
6.0507D
6.0507G
6.0507C
6.0507E
7.05078
7.0507D
7.0507G
8.05078
8.0507D
8.0507G
8.0507C
8.0507E

A(mm) B(mm) D(mm) E(mm)

22

22 54 93 23
238
22

238 61.3 102 21
238
22

27 70 108 21
238
27 74.6 108 21 =
238
30.2 80 108 21 -
238
32 7% 108 21 =
238
18 22

23
30.2 92 238

1"

o 22 26.5
22

30.2 106.5 130 25
238
130 25 .
35 106.5 238
130 25 265

Tel 5-88175767 E-mail

SPLINED YOKE 07-PUSHPIN

F
13/8"26
13/8" 221
8-32X38X6
13/8"26
13/8"221
8-32X38X6
13/8"26
13/8" 221
8-32X38X6
13/8"26
13/8" 221
8-32X38X6
13/8"26
13/8" 221
8-32X38X6
13/8"26
13/8"221
8-32X38X6
13/8"26
13/8" 221
8-32X38X6
13/4"26
13/4" 220
13/8"26
13/8"221
8-32X38X6
13/8"26
13/8"221
8-32X38X6
13/4"26
13/4"220



P39

YOKE

P40

YOKE

SPLINED YOKE 08-PUSH PIN

Series
1.0508B
1.0508D
2.05088
2.0508D
3.05088
3.0508D
4.05088
4.0508D.
5.05088
5.0508D
32.0508B
32.0508D
6.05088
6.0508D
6.0508C
6.0508E
7.05088
7.0508D

S

@

A(mm) B(mm) C(mm) D(mm) E(mm)
22 54 89 14 22
23.8 61.3 100 20 22
27 70 102 22 22
27 74.6 108 21 22
30.2 80 1 20 22
32 76 111 20 22
30.2 92 118 21 22
30.2 92 124 24 26.5
30.2 106.5 125 24 22

o E-mail

F
13/8"26
13/8" 221
13/8"26
13/8" 221
13/8"26
13/8" 221
13/8"26
13/8"221
13/8"26
13/8"221
13/8" 26
13/8" 221
13/8"26
13/8" 221
13/4"26
13/4" 220
13/8"26
13/8" 221

Series.
6.0511B
6.0511D
6.0511G
6.0511C
36.05118
36.0511D
36.0511G
36.0511C
36.0511E
7.0511B,
7.0511D
7.0511G
8.0511B
8.0511D
8.0511G
8.0511C
8.0511E
10.05118
10.0511D
10.0511G
10.0511C
10.0511E
42.0511B
42.0511D
42.0511G
42.0511C
42.0511E
50.05118
50.0511D.
50.0511G
50.0511C
50.0511E

A(mm)

30.2

30.2

SPLINED YOKE 11-PUSH PIN

B(mm)

92

92

106.5

106.5

118

104.5

118

118

C(mm)
121
121
121
121

121

128

128

128

140

138

145

145

D(mm)

E(mm)
22

238
26.5

Tel: +0086-135-88175767 E-mail: sales@cnspeedway.com  autotradebiz@163.com

F
13/8"26
13/8" 221

8-32X38X6
13/4"26
13/8"26

13/8" 21

8-32X38X6
13/4"26

8-32X38X6
13/8"26
13/8" 221
8-32X38X6
13/4"26
13/4" 220
13/8"26
13/8" z21
8-32X38X6
13/4"26
13/4" 220
13/8"26
13/8" 221
8-32X38X6
13/4"26
13/4" 220
13/8"26
13/8"z21
8-32X38X6
13/4"26
13/4" 220



P41 ) P42

buyallenalibabs
YOKE YOKE
SPLINED YOKE 13-WITH COLLAR A{ ) B PLAIN BORE YOKE A-PIN HOLE
q
Lt 1
s ==gl
Series - A(mm) B(mm)  C(mm) D(mm)  E(mm) F Series \ A(mm) B(mm)  C(mm) D(mm) E(mm) F(mm)
1.05138 13/8"26 1.05A20 20 6
22 54 100 26 13
1.0513D 13/8"221 1.05A22 22 B
2.05138 13/8"26 1.05A25 22 54 a4 20 25
238 61.3 102 26 13
2.0513D 13/8"221 1.05A30 30 -
13B 13/8" 1.05A31 1
3.0513 - - . 2 - 3/8"26 05A31.8 31.8
3.0513D 13/8'221 2.05A20 20 6
4.05138 13/8'Z6 2.05A22 22
27 746 11 26 13 238 61.3 82 20 8
4.0513D 13/8"221 2.05A25 25
5.05138 13/8'Z6 2.05A30 30 10
30.2 80 "7 26 13
5.0513D 13/8"221 3.05A22 22 &
138 13/8"Z A2 2
6.0513 = » 3/8'26 3.05A25 - %5 - 55 5
6.0513D 13/8"221 3.05A30 30 10
30.2 92 123
6.0513C . - 13/8"26 3.05A35 35 13
6.0513E 13/8"221 4.05A22 22 T
7.05138 13/8'26 4.05A25 20 25
30.2 106.5 137 26 13
7.0513D 13/8"221 4.05A30 27 74.6 % 30 T
36.05138 13/8'26 4.05A31.8 31.8
36 89 123 26 13 25
36.0513D 13/8'221 4.05A35 35 13
7N.05138 13/8"26 5.05A30 30 10
35 94 123 26 13
7N.0513D 13/8"221 5.05A35 30.2 80 98 20 35 5
8.05138 13/8'Z6 5.05A40 40
35 106.5 137 26 13
8.0513D 13/8"221 6.05A30 30 10
8.0513C 13/4'26 6.05A35 35
35 106.5 137 26 16 30.2 92 104 20
8.0513E 13/4"220 6.05A40 40 13
6.05A42 42
7.05A35 35
7.05A40 40
30.2 106.5 17 25 13
7.05A42 42
7.05A45 45
8.05A35 35
8.05A40 40
35 106.5 121 25 13
8.05A42 42
8.05A45 45

Tel: +0086-135-88175767 E-mail: sales@cnspeedway.com autotradebiz@163.com Tel: +0086-135-88175767 E-mail: sales@cnspeedway.com  autotradebiz@163.com



P43

YOKE

P44

YOKE

PLAIN BORE YOKE B-KEYWAY

Series.
1.05B20
1.05B22
1.05825
1.05830
2.05820
2.05822
2.05825
3.05822
3.05825
3.05B30
3.05B35
4.05B22
4.05B25
4.05B30
4.05B35
5.05B30
5.05835
5.05840
6.05B30
6.05B35
6.05B40
6.05B42
7.05B35
7.05B40
7.05B42
7.05B45
8.05B35
8.05B40
8.05B42
8.05B45

A(mm)

T

30.2

B(mm)

106.5

106.5

Al

C(mm)

104

D(mm)
20
22
25
30
20
22
25
22
25
30
35
22
25
30
35
30
35
40
30
35
40
42
35
40
42
45
35
40
42
45

E(mm)

6

Seoodooo e o

S ®R 5@

el: +0096-135-88175767 E-mail: sales@cnspeedway.com autotradebiz@163.com

F(mm)
12.8
13.8
15.8
18.3
12.8
13.8
15.8
13.8
15.8
18.3
20.8
13.8
15.8
18.3
20.8
18.3
20.8
233
18.3
20.8
23.3
243
20.8
233
243
26.3
20.8
233
243
26.3

Series.
1.05C20
1.05C22
1.05C25
1.05C30
2.05C20
2.05C22
2.05C25
2.05C30
3.05C22
3.05C25
3.05C30
3.05C35
4.05C22
4.05C25
4.05C30
4.05C35
5.05C30
5.05C35
5.05C40
6.05C30
6.05C35
6.05C40
6.05C42
7.05C35
7.05C40
7.05C42
7.05C45
8.05C35
8.05C40
8.05C42
8.05C45

A(mm)

30.2

Tel

54 77
61.3 82
61.3 82

70 90
74.6 90

80 98

92 104
106.5 17
106.5 121

+0086-135-88175767 E-mail: sales@cnspeedway.com autotradebiz@163.com

PLAIN BORE YOKE C-KEYWAY & THREADED HOLE

20

20

20

20

20

20

20

25

25

6

10

10
12

10

F(mm)
12.8
13.8
15.8
18.3
12.8
13.8
15.8
18.3
13.8
15.8
18.3
20.8
13.8
15.8
18.3
20.8
18.3
20.8
23.3
18.3
20.8
23.3
243
20.8
23.3
243
26.3
20.8
233
243
26.3

G(mm)

H(mm)

M6

M8

M6

M8
M6
M8

M10
M6

M8
M10

M8
M10
M12
M10

M12

14
M10

M12

M14



P45 ) P46

YOKE YOKE

PLAIN BORE YOKE D-KEYWAY & CLAMP BOLT PLAIN BORE YOKE F-VERTICAL PIN HOLE

P

=
=2}

Series A(mm) B(mm)  C(mm) D(mm) E(mm) F(mm) G(mm) Series | A(mm) B(mm) C(mm) D(mm) E(mm) F(mm)
1.05D20 6 12.8 20 1.05F20 20 6
1.05D30 22 54 93 21 8 183 30 1.05F22 - 22 "
1.05D32 10 19.3 32 1.05F25 22 54 7 25
2.05D25 5 15.8 25 1.05F30 30 m
2.05D30 238 61.3 102 21 18.3 30 1.05F31.8 18.5 318
2.05D32 10 19.3 32 2.05F20 20 6
3.05D25 15.8 25 2.05F22 22
3.05D32 27 70 108 21 g 19.3 32 2.05F25 23 B33, 5z g 25 o
3.05D35 12 20.8 35 2.05F30 30 10
4.05D25 h 15.8 25 3.05F22 15 22 .
4.05D32 27 74.6 108 21 19.3 32 3.05F25 27 70 90 25
4.05D38 10 223 38 3.05F30 20 30 10
5.05D32 19.3 32 3.05F35 35 13
5.05D35 902 0 106 21 © 208 35 4.05F22 22 B
6.05D30 8 18.3 30 4.05F25 25
6.05D32 10 19.3 32 4.05F30 27 74.6 90 20 30 w
6.05D38 30.2 92 18 21 12 223 38 4.05F31.8 318
6.05D45 263 45 4.05F35 35 13
6.05D50 " 28.8 50 5.05F30 30 10
7.05D30 8 18.3 30 5.05F35 30.2 80 98 20 35 P
7.05D35 30.2 106.5 130 25 10 20.8 35 5.05F40 40
7.05D40 12 23.3 40 6.05F30 30 10
8.05D30 8 18.3 30 6.05F35 35
8.05D35 e T 30 5 10 20.8 35 6.05F40 302 92 e 20 40 13
8.05D40 12 233 40 6.05F42 42
8.05D45 14 26.3 45 7.05F35 35

7.05F40 40
7.05F42 30.2 106.5 "7 25 a2 13
7.05F45 45
8.05F35 35
8.05F40 40
e 35 106.5 121 25 s 13
8.05F45 45

Tel: +0086-135-88175767 E-mail: sales@cnspeedway.com autotradebiz@163.com Tel: +0086-135-88175767 E-mail: sales@cnspeedway.com  autotradebiz@163.com



P47

YOKE

P48

TORQUE LIMITER

PLAIN BORE YOKE H-PIN HOLE & THREADED HOLE

Series | A(mm)

1.05H20
1.05H22
1.05H25
1.05H30
1.05H31.8
2.05H20
2.05H22
2.05H25
2.05H30
3.05H22
3.05H25
3.05H30
3.05H35
4.05H22
4.05H25
4.05H30
4.05H31.8
4.05H35
5.05H30
5.05H35
5.05H40
6.05H30
6.05H35
6.05H40
6.05H42
7.05H35
7.05H40
7.05H42
7.05H45
8.05H35
8.05H40
8.05H42
8.05H45

22

27

27

B(mm) { C(mm) [
54 77
61.3 82
70 920
74.6 920
80 98
92 104
106.5 17
106.5 121

Email:

F(mm)  G(mm)
6
o M6
10
6
8 M6
10
8
10 jro
13
8
10 M6
13 m8
10 M6
M8
18 M10
10 M6
M8
13 M10
M8
13 M10
M8
i M0

Shear Bolt
Torque Limiter

3
14

| Overrunning Clutch I

Ratchet Torque
Limiter

»

A
b

Wide Angle Joint

WA

-
s
*

Friction Torque
Limiter

FT

Friction Torque
Limiter

N

E-mail



P49

P50

SHEAR BOLT TORQUE LIMITER

LI I NENININ

| Torque(nm) |
570

740
740
790
1110
1200
1400
1600
1600
2100
1750
2500
1600
2100
2050
3200

Spline |

13/8"26

Description
Yoke
Grease nipple
Steel ball
Hub
Push pin
Shear bolt & Nut

A(mm)
95

98

I

B(mm)

20

C(mm)

Email:

I

D(mm)
M6x40

M6x40

M8x45

M8x50
M8x50
M8x45
M10x50
M8x55
M10x55
M8x45
M10x50
M10x60
M12x65

Series
7NSB
7NSBT1
858
8SBT1
8SB.C
8SBT1.C
38SB

42SBT1.C

o aswn o

8%
%,

| Torque(nm) | Spline | A(mm) c(mm)
2300 = 50
3000 13/8"26 139 46
2700 = 60
3500 13/8"Z6 152 57
2700 . 60
3500 13/4"26 152 57
2700 13/8"26 152 60
3500 13/8"Z6 152 57
4000 13/8"26 152 60
3500 13/4"26 152 57
4000 13/4"Z6 60
3500 13/8'26 57
4500 13/8"Z6 49
3500 13/4"Z6 57
4500 13/4"Z6 49
2400 13/8"Z6 53
3200 13/8'26 49
3500 13/8"Z6 57
4000 13/8'26 60
3500 13/4"Z6 57
4000 13/4"Z6 60

o
s
Description [ Notes
Yoke
Grease nipple
Steel ball
Hub
Push pin Qty.=2
Shear bolt & Nut
T E-mail

D(mm)
M10x65
M12x65
M10x65
M12x65
M10x65
M12x65
M10x65
M12x65
M12x65
M12x65
M12x65
M12x65
M14x70
M12x65
M14x70
M10x65
M12x65
M12x65
M12x65
M12x65
M12x65



P51

OVERRUNNING CLUTCH

i P52
OVERRUNNING CLUTCH

1RA1

3RA1
4RA1
5RA1
6RA1
7RA1
7NRA1
8RA1

2400 13/8"26 154 21

157

T

No s wN

Circlip
Retaining washer
Push pin kit
Hub
Prong kit Qty.=3
Housing with yoke
Grease nipple

Email:

RAS1

No s wN

2400 13/8"Z6 13/8'Z6 142 21 38

Circlip
Retaining washer
Push pin kit
Hub.
Prong kit Qaty.=3
Housing with splined shaft
Grease nipple

E-mail:



P53

OVERRUNNING CLUTCH

P54

OVERRUNNING CLUTCH

7NRA2 3500 13/8"Z6

13/8'Z6 13/8"Z6 161 21 38

Circlip
Retaining washer
Push pin kit
Hub.

Prong kit
Housing with yoke
Grease nipple

No s wN

Tel: Email:

Qty.=3

No s wN

Circlip
Retaining washer
Push pin kit
Hub
Prong kit Qty.=3
Housing with splined shaft
Grease nipple

E-mail:



P55

RATCHET TORQUE LIMITER

P56

RATCHET TORQUE LIMITER

Series. r ‘Setting Torque (nm) T Spline A(mm) B(mm) | Series  Setting [ | | A(mm) B(mm)—r C(mm)
1SA1 138 SAS1 400 13/8"26 13/8"26 144 21 38
2SA1 ” 138
35A1 400 13/8"26 149 21
4SA1 150

RATCHET TORQUE LIMITER 8 . i
|
No. Description Notes No. Description Notes
1 Circlip 1 Circlip
2 Retaining washer 2 Retaining washer
3 Dust guard ring 3 Dust guard ring
4 Push pin kit 4 Push pin kit
5 Hub 5 Hub
6 Pawl kit Qty.=8 6 Pawl kit Qty.=8
T Housing with yoke 7 Housing with yoke
8 Grease nipple 8 Grease nipple

Tel: E-mail:

Tel E-mail




P57 ) ) ) P58
RATCHET TORQUE LIMITER RATCHET TORQUE LIMITER

1SA2 156 SAs2 800 13/8"26 13/8"26 161 21 38
28A2 156
35A2 167
48A2 168
55A2 800 13/8'26 172 21
65A2 178
78A2 189
7NSA2 | | 175 j
85A2 7 189 Y AN

1 Circlip 1 Circlip

2 Retaining washer 2 Retaining washer

3 Dust guard ring 3 Dust guard ring

4 Push pin kit 4 Push pin kit

5 Hub 5 Hub

6 Pawl kit Qty.=16 6 Pawl kit aty.=16
7 Housing with yoke 7 Housing with yoke

8 Grease nipple 8 Grease nipple

Tel: Email: Tel: E-mail:




P59 ) P60

RATCHET TORQUE LIMITER RATCHET TORQUE LIMITER

25A3 171 SAS3 1200 13/8'26 13/8"26 164.5 22 38
38A3 182
4SA3 183
55A3 5 187
T 1200 13/8"26 e 22
7SA3
7NSA3
85A3
sl
s
1 Circlip 1 Circlip
2 Retaining washer i Retaining washer
3 Dust guard ring 3 Dust guard ring
4 Push pin kit 4 Ball collar kit
5 Hub 5 Hub
6 Pawl kit Qty.=24 6 Pawl kit Qty.=24
7 Housing with yoke 7 Housing with yoke
8 Grease nipple 8 Grease nipple

Tel: Email: Tel: E-mail:




P61

RATCHET TORQUE LIMITER

P62

RATCHET TORQUE LIMITER

5SA4
6SA4

13/8"26 206 22
13/8"Z6 212 2

IR E PSP

Circlip
Retaining washer
Dust guard ring
Ball collar kit
Hub
Pawi kit Qty.=32
Housing with yoke
Grease nipple

Email:

SAS4

1600

13/8"26 13/8"26 186 22 38

®No o wN

Circlip
Retaining washer
Dust guard ring
Ball collar kit
Hub
Pawl kit Qty.=32
Housing with yoke
Grease nipple

E-mail:



P63

RATCHET TORQUE LIMITER

i P64
RATCHET TORQUE LIMITER

B6SAS

2000 13/8"26

2000

13/8"26 13/8"26 205 22 38

IR EFSPRINN

Circlip
Retaining washer
Dust guard ring
Ball collar kit
Hub
Pawi kit
Housing with yoke
Grease nipple

Qty.=40

Email:

IR PSRN

Circlip
Retaining washer
Dust guard ring
Ball collar kit
Hub
Pawl kit Qty.=40
Housing with yoke
Grease nipple

E-mail



P65 ) P66
WIDE ANGLE JOINT SD-DOUBLE JOINT

SD-DOUBLE JOINT (WHOLE)

Series | Type A(mm) | B(mm)
1 1.05.0Y 66 72
E 2.05.0Y 69 78
3 3.05.DY 79 80
4 1310.05.DY 685 99
5 100.05.0Y 70 109
6 25HP.05.DY 69 78
7 50HP.05.DY 70 109
SD-DOUBLE JOINT (WELDED)
| series | Type  A(mm) | B(mm)
1 1.05.5DY 102 102
2 2.05.5DY 102 102
3 3.05.5DY 124 102
4 4.05.5DY 126 102
g; 5 5.05.5DY 134 102
6 6.05.5DY 146 102
= 7 7.05.5DY 168 102
o= | == 7N 7N.05.SDY 140 102
8 8.05.5DY 168 102
32 32.05.5DY 134 102
36 36.05.5DY 154 102
42 42.05.5DY 190 104
Series | Cross  A(mm) B(mm) C(mm) D(mm) E | B
2WA.01 23.8x61.3/22x76 153 104 119 105 2WA.0505B/D/G  2WA.06/06L SQ-DOUBLE JOINT (WHALE)

4WA.01  27x74.6/23.8x91 153 104 124 110 4WA.0505B/D/G  4WA.06/06L

6WA.01  30.2x92/27x100 176 105 136 127 6WA.0505B/D/G  6WA.06/06L/06ST
BWA.01 35x106.5/30.2x106 184 120 146 147 8WA.0505B/C/D/E 8WA.06/06L/06ST
32WA.01 32x76/27x94 176 105 126 117 32WA.0505B/D/G  32WA.06/.06L/06ST
36WA.01 36x89/32x106 184 120 125 126 36WA.0505B/C/D/E 36WA.06/06L/06ST

42WA.01 42x104.5/36x124 184 124 149 150 42WA.0505B/C/D/E 42WA.06/06ST/06G

Tel Email Tel 75767 E-mail




P67

AUTOMATIC TORQUE LIMITER

P68

AUTOMATIC TORQUE LIMITER

Series
4sC151
4sC151.D
58C151
6SC151.D
6SC151
6SC151.D
6SC151.C
6SC151.E
7NSC151
7NSC151.D
7NSC151.C
7NSC151.E
8SC151
8SC151.D
8SC151.C
8SC151.E
365C151
365C151.D
365C151.C
36SC151.E
8SC176
85C176.D
8SC176.C
8SC176.E
9SC176
9SC176.D
9SC176.C
9SC176.E
8SC176
8SC176.D
8SC176.C
8SC176.E
8SC176
8SC176.D
8SC176.C
BSC176.E

Rotating Direction
Torque(nm) Spline A(mm) B(mm)
13/8"26
1600 oo 207.5
13/8"26
e 13/8"221
13/8'26
2600 13/8"221
2100 13/4'26
13/4"220 23
13/8'Z6
2800 13/8"221 55
2600 13/4"26
1314220
13/8"26
2800 13/8"221
2600 13/4'26 -
13/4"220
13/8'Z6
2800 13/8"221
2600 13/4"26 213
13/4"220
3000 13/8"26
13/8"221
56 13/8"26 =
13/8"221
13/8"26 233
4000 13/8"221
13/4"26
4500 13/4220 54
3500 13/8'26
4000 13/8"221
13/4'26 233
Aup 13/4"220
3500 13/8'26
4000 13/8"221
4500 13/4"26
4500 1314220
Tel E-mai

T
|

152

176

C(mm)

Description
Outer housing + yoke
Bushing
Spring pack
Hub with taper pin and bushings
Bushing
Sealing ring
0-ring
Locking plate
Snap ring
Bushing
Cam
Taper pin

Tel: +0086-135-88175767 E-mail: sales@cnspeedway.com

Notes.

With nuts

autotradebiz@163.com



P69

AUTOMATIC TORQUE LIMITER

P70

AUTOMATIC TORQUE LIMITER

s

Rotatg Direcion
Series Torque(nm) Spline | A(mm) | B(mm) C(mm)
SCF151 1600 13/8"26
SCF151.0 2100 13/8"221
SCF151.C 2600 13/4"26 m . -
SCF151.E 2800 13/4"220
SCF176 3000 13/8"26
SCF176.0 3500 13/8"221
SCF176.C 4000 13/4'26 e 20 o1g
SCF176.E 4500 13/4"220
Tel E-mail

\

Description Notes
Outer housing+flange
Bushing
Spring pack
Hub with taper pin and bushings
Bushing
Sealing ring
0O-ring
Locking plate
Snap ring
Bushing Qty.=4
Cam Qty.=4
Taper pin With nuts

Tel 75767 E-mail




(4

P72

FRICTION TORQUE LIMITER

Series
4FFO
5FFO
4FF1

4FF1D
5FF1

5FF1D
6FF1
6FF1D
4FF2
4FF2D
5FF2
5FF2D
5FF2C
5FF2E
6FF2
6FF2D
6FF2C
6FF2E
TFF2
7FF2D
7FF2C
TFF2E
7NFF2
7NFF2D
7NFF2C
7NFF2E
B8FF2
8FF2D
8FF2C
8FF2E

Max Torque(nm) | Friction Disc

800
1000

1200

1500

1500

1500

1800

120

140

160

160

160

160

<

Spline
13/8"Z6
13/8"26

13/8"221
13/826

13/8"221

13/4'26
13/4"220

| A(mm)  B(mm) C(mm)
135

137
150

152

160

150

152

164

169

164

169

Email:

29 160
29 180
29 200
29 200
29 200
29 200

PN SN

Description
Pressure plate
Internal disc
Friction lining

Hub
Taper pin for hub
Bushing
Flanged yoke
Complete bolt&Spring

Qty.=2

With nuts

Qty.=8

75767 E-mail



P73

FRICTION TORQUE LIMITER

P74

FRICTION TORQUE LIMITER

| A(mm) | B(mm) C(mm)

Series | Max I Spline
4FFV1 1200 13/8"26
4FFVID 900 2140 13/8"221 150
SFFVA 1200 13/8"26
SFFVAD 900 e 13/8"221 182
6FFV1 1200 13/8'Z6
6FFVID 1200 _— 13/8"221 ]
4FFV2 1200 13/8'Z6
4FFV2D 1200 b 13/8"221 paz
SFFV2 13/8'Z6 p—
5FFV2D siéo 13/8'221
5FFV2C 1a00: 13/4"26 15
SFFV2E 1314220
6FFV2 13/8"26 e
6FFV2D 13/8"221
6FFV2C o0 e 13/4"26 e
6FFV2E 1314220
TFFV2 13/8"26 163
7FFV2D 13/8"221
TFFV2C 13/4'26 o
TFFV2E 13/4"220
INFFV2 1800 60 13/8'Z6 e
7NFFV2D 13/8"221
INFFV2C 13/4"26 58
TNFFV2E 1314220
8FFV2 13/8'26 162
8FFV2D 13/8"221
8FFV2C L e 13/4"26 e
8FFV2E 1314220

Email

180

180

180

200

200

200

200

200

200

200

200

200

200

200

PN SN

Description
Pressure plate
Internal disc
Friction lining

Hub
Complete bolt
Bushing
Flanged yoke
Complete bolt&Spring

Tel E-mail

|
I

Notes

Qty.=2

Qty.=2

Qty.=8




P75 ) P76

FRICTION TORQUE LIMITER

| Seies | MaxTorqus(om) | Fritiondise | Spine | A(nm) | Bmm) | Clrm)
5FF3 13/8"26
& D 2000 140 o 168 29 180
6FF3 13/8"26
T 2000 140 ] 176 29 180
5FF4 13/8'Z6
SEeAD 2000 160 T 168 29 200
SFF4C 13/4"26
e 2000 160 a0 168 29 200
6FF4 13/8'Z6
6FF4D 13/8'221
SLetE 2000 160 o 180 29 200
6FF4E 1314220
TFF4 13/8"26
7FFAD 13/8"221 9 L B e 8
TFF4C 13/4'26 L 20 2200
TFF4E 13/4"220
TNFF4 2200 2190 13/8'Z6 | |
7NFF4D 13/8"221 No. Description Notes
TNFF4C 13/4'26 180 2 9200 1 Pressure plate
TNFF4E 13/4"220 2 Internal disc aty.=2
8FF4 13/8'26 3 Friction lining Qty.=4
8FF4D 13/8"221 4
8FFAC 2500 @150 13/4'26 185 28 @200 5 Taper pin for hub. With nuts
8FF4E 1314220 6 Intermediate hub.
9FF4 13/8'26 7 Bushing
9FF4D 13/8"221 8 Flanged yoke
9FFAC 2800 Rl 13/4"26 o 28 2200 9 Complete bolt&Spring Qty.=8
OFF4E 13/4"220
10FF4 13/8'26
10FF4D 13/8"221
1OFF4C 3000 160 3426 190 29 200
10FF4E 13/4"220
42FF4 13/8'Z6
42FF4D 13/8"221
e 2800 160 T 190 29 200
42FF4E 1314220

Tel: E-mail: Tel E-mail




P77

FRICTION TORQUE LIMITER

P78

FRICTION TORQUE LIMITER

 A(mm) | B(mm) \ C(mm)

Series  Max (nm) | Spline
5FFV3 13/8"Z6
5FFV3.D 2000 140 13/8"221 480
6FFV3 13/8"26
6FFV3.D 2000 LD 13/8"z21 fo8
5FFV4 13/8"Z6
5FFV4D 2000 o180 13/8"Z21 160
5FFV4C 13/4"Z6
SFFVA4E e e 1314220 A&7
6FFV4 13/8"Z6 172
B6FFV4D 13/8"221
B6FFV4C 2000 50 13/4"Z6 179
6FFV4E 13/4"Z20
7FFV4 13/8"26 177
7FFV4D 13/8"221
7FFV4C 13/4"Z6 184
TFFV4E 13/4"220
7NFFV4 2200 2180 13/8"Z6 172
7NFFV4D 13/8"221
7NFFV4C 13/4"Z6 179
7NFFV4E 13/4"220
8FFV4 13/8"Z6 177
8FFV4D 13/8"221
8FFV4C 2500 o160 13/4"Z6 184
8FFV4E 13/4"220
9FFV4 13/8"26 182
9FFV4D 13/8"221
9FFV4C 2o (12 13/4"Z6 189
9FFV4E 13/4"220
10FFV4 13/8"26 182
10FFV4D 13/8"Z21
10FFV4C 2800 D150 13/4"Z6 189
10FFV4E 13/4"220
42FFV4 13/8"Z6 182
42FFV4D 13/8"221
42FFV4C 2500 2160 13/4"Z6 189
42FFV4E 13/4"220

Email

305

180

180

®200

®200

200

200

200

200

200

200

200

PRI ST e

Description
Pressure plate
Internal disc
Friction lining

Hub.
Complete bolt
Intermediate hub
Bushing
Flanged yoke
Complete bolt&Spring

Notes.

aty.=2
Qty.=4

Qty.=2

Qty.=8

E-mail



P79

FRICTION TORQUE LIMITER

P 80

FRICTION TORQUE LIMITER

FFS1
FFS1D

FFS2
FFs2D
FFS2C
FFS2E

1200 ®140

1800 ®160

&
0@

13/8"26
13/8"221
13/8"26

13/8"Z21
13/8"26
13/8"220

13/8"Z6 161.5 29 38 0180

13/8"26 1615 29 38  ®200

IR PSP

Pressure plate
Internal disc.
Friction lining

Taper pin for hub
Bushing
Flanged spline
Complete bolt & Spring

Qty.=2

With nuts

Qty.=8

Email:

FFVS1
FFVS1D
FFVS2
FFVS2D
FFVS2C
FFVS2E

4
2
3
a
5
6
7
8

1200
900

1800

13/8"26

@140 Yoin 13/8'z6 1615 20 38  ®180
13/8°26
13/8'221 =

D160 13/8"26 13/8"Z6 161.5 28 38 200
13/8'220

Pressure plate
Internal disc
Friction lining Qty.=2
Hub
Complete bolt Qty=2
Bushing
Flanged spline
Complete bolt & Spring Qty.=s

E-mail:



P81

FRICTION TORQUE LIMITER

P82

FRICTION TORQUE LIMITER

FFS3
FFS3D
FFS4
FFS4D
FFs4C
FFS4E

7
&

13/8'26
13/8'221
13/8'26
13/8'221
13/8'26.
13/8"220

1500 140

2500 160

13/8"26 177 29

13/8"26 177 | 29
L

FFVS3
FFVS3D
FFVS4
FFVS4D.
(FFVS4C
FFVS4E

2000

2500

131826

138221

13/8'26

13/8"221

160 o
. 13/8"220

140

13/8"26

13/8"26

CoND o s wON

Pressure plate

Internal disc
Friction lining
Hub.

Taper pin for hub
Intermediate hub
Bushing
Flanged spline
Complete bolt & Spring

Tel: Email:

Qty.=2
Qy=4

With nuts

Qty.=8

CoND O s N

Pressure plate
Internal disc
Friction lining
Hub
Complete bolt
Intermediate hub
ushing
Flanged spline
Complete bolt & Spring

Qty.=2
Qty=4

Q=2

Qty.=s

E-mail



P83

FRICTION TORQUE LIMITER

P84

FRICTION TORQUE LIMITER

Series
4FFTO
5FFTO
4FFT1
4FFT1D
SFFT1
SFFTID
6FFT1
6FFTID
5FFT2
S5FFT2D
SFFT2C
5FFT2E
6FFT2
6FFT2D
6FFT2C
6FFT2E
TFFT2
7FFT2D
TFFT2C
TFFT2E
INFFT2
7NFFT2D
INFFT2C
TNFFT2E
8FFT2
8FFT2D
8FFT2C
8FFT2E

Max Torque(nm)

800

1200

1200

Friction Disc

@120

140

160

160

Spline
131826
131826
13/8'26
13/8"221
13/8"26
13/8"221
13/8'26
13/8"221
131826
13/8"221
131426
13/4"220
131826
13/8"221
13/426
13/4"220
131826
13/8"221
13/4"Z6
13/4"220
131826
13/8"221
131426
13/4"220
131826
13/8"221
131426
13/4"220

A(mm)
150
152

150
152

160

164

Email

B(mm)
29

29

29

29

C(mm)
160

180

200

200

PN SN

Description
Belleville spring
Pressure plate

Friction discs

Hub
Taper pin for hub
Bushing
Flanged yoke
Complete bolt

Notes.

Qty.=2

With nuts

Qty.=8

75767 E-mail



P85 ) P86

FRICTION TORQUE LIMITER FRICTION TORQUE LIMITER

Series Max Torque(nm)  Friction Disc Spline A(mm) B(mm)  C(mm)
A4FFVT1 13/8"26 150
4FFVT1D 13/8"221

S5FFVT1 13/8"26
SERID 900 140 s 152 29 180

6FFVT1 13/8'26 Wy
6FFVT1D 13/8"221

SFFVT 131826 e
SFFVT1D 13/8"221

6FFVT1 13/8'26
6FFVT1D 1318221 50 8 & 3 8

4FFVT2 131826 e
4FFVT2D 138221

SFFVT2 13/8"26 No. Description Notes
SFFVT2D 13/8"221 e 1 Belleville spring

6FFVT2 13/8'26 i 2 Pressure plate -
6FFVT2D 13/8"221 3 Friction discs ty.=
e 1200 160 o 29 200 7
i T 163 5 Complete bolt Qty.=2
TFFVT2 131826 - 6 Bushing
7FFVT2D 13/8"221 7 Flanged yoke
7FFVT2C 131426 8 Complete bolt Qty.=8
TFFVT2E 13/4"220 i

8FFVT2 131826 a2
8FFVT2D 138221
8FFVT2C 13/4"26 5
8FFVT2E 13/4"220

Tel Email Tel 75767 E-mail




P87 S P88

FRICTION TORQUE LIMITER

FRICTION TORQUE LIMITER

\\ '
Series | MaxTorque(nm) | FrictionDisc = Spline A(mm) | B(mm) | C(mm)
6FFT4 13/8"Z6 e

172
6FFT4D 138221
GEETIE 1600 160 e — 30.5 200
6FFT4E 13/4"220
TFFT4 13/8'26 5
7FFT4D 13/8"221
TFFT4C 131426 v,
TFFT4E 13/4°220
INFFT4 131826 2
7NFFT4D 13/8'Z21 o v & 6 3
Haie 2000 160 e = 30.5 200 5 3 4
TNFFT4E 13/4"220
8FFT4 131826 =
SFFTaD 135221 No. Description Notes
JEET4C 1 oheze 184 1 Belleville spring
8FFT4E 13/4°220
2 Pressure plate
3 Friction discs Qty.=4
4
5 Pressure plate
6 Hexagon board
7 Bushing
8 Flanged yoke
9 Complete bolt Qty.=8
10 Taper pin for hub With nuts
Tel E-mail Tel 75767 E-mai



P90

P89

buyallen.alibabs

FRICTION TORQUE LIMITER

FRICTION TORQUE LIMITER

S
—

Series  MaxTorque(nm)  Friction Disc A(mm) B(mm) C(mm)
6FFVT4 13/8'Z6
6FFVT4D 13/8"221
RER e 1600 160 e 175 29 200
6FFVT4E 1314220
TFFVT4 13/8"26
7FFVT4D 13/8"221 i
7FFVT4C 13/4'26
7FFVT4E 13/4"220
7NFFVT4 13/8'26
INFFVT4D 13/8"221
TG 2000 160 e 175 29 $200
INFFVT4E 13/4"220
8FFVT4 13/8'26
BEEVIAD, 13/6:721, 182 No. Description Notes
SEEVESC il 1 Belleville spring
8FFVT4E 13/4"220 5 EresiEEe
3 Friction discs Qty.=4
4 Hub
5 Pressure plate
6 Hexagon board
7 Bushing
8 Flanged yoke
9 Complete bolt
10 Complete bolt
Tel E-mail Tel 75767 E-mail




P91 ) P92

FRICTION TORQUE LIMITER FRICTION TORQUE LIMITER

Series Max Friction Disc A(mm) B(mm) C(mm) D(mm) Series Max A(mm) D(mm)
FFST1 13/8"26 - FFSVT1 900 140 13/8"26 13/8"26 161.5 29 38 180
e 900 @140 e 13/8"z6 1615 305 38  ®180 EEEV T

e o e 1200 160 [ 13/8"26 1615 20 38 200
EESI2D 1200 160 Iaized 13/8"26  161.5 305 38  $200 T2 13g°26

FFST2C 13/4"26 p . FFSVI2E 13/4"220

FFST2E 13/4"220

8 3

/,

@ )
8 7 6 5 4 6 5 3 4
No. Description Notes No. Description Notes
1 Belleville spring 1 Belleville spring
z Pressure plate 2 Pressure plate
3 Friction discs Qty.=2 3 Friction discs Qty.=2
4 Hub 4 Hub
5 Taper pin sets With nuts 5 Bushing With nuts
6 Bushing 6 Splined shaft welded assembly
T Splined shaft welded assembly 7 Complete bolt
8 Complete bolt Qty.=8 8 Complete bolt

Tel 5767 E-mil Tel: +0086-135-88175767 E-mail: sales@cnspeedway.com  autotradebiz@163.com




P93

P 94

FRICTION TORQUE LIMITER

ies Max
FFST3
FFST4
FFST4D
FFST4C
FFST4E

z
5
©

PRI I ST N

=

Friction Disc
900 @140 13/8'Z6
13/8"26
13/8'221 ’
1200 @160 e 131826
1314220
10
@ e
8 7 3 6 3 5 3 4
Description

Belleville spring
Pressure plate
Friction discs

Hub
Pressure plate
Hexagon board

Bushing

Splined shaft welded assembly

Complete bolt
Taper pin for hub

Tel Email

A(mm) B(mm) C(mm) D(mm)

1615 29

3 3

Notes

Qty.=4

Qty.=8
With nuts

38

180

200

Series Max
FFSVT3
FFSVT3D
FFSVT4

FFSVT4E

o L

=

13186 .
1200 @140 13/8"221 13/8"26
131826
13/8"221 -
1200 160 Tt 13/8"26
13/4"220
10
|
8 3 6 @ 5 3
Description

Belleville spring
Pressure plate
Friction discs

Hub

Pressure plate
Hexagon board

Bushing

Splined shaft welded assembly
Complete bolt
Complete bolt

A(mm) B(mm) C(mm) D(mm)

177

177

29

29

Notes

Qty.=4

Qty.=8
aty.=2

75767 E-mail

38

38

180

180



P95

FRICTION TORQUE LIMITER

P96

FRICTION TORQUE LIMITER

Series

FCS165  ®125
FCS165D  ®125

Friction
Dis¢

Disc

Max Torque Spline Spline { |
ek () (maley  A(mm) B(mm) C(mm) D(mm)
800 13/8"26 13/8"26 140 20 35 D165
800 13/8"Z21 13/8"26 140 20 35 165

Series

FCS203
FCS203D

Friction
Disc
163
163

Disc | MaxTorque | Spline
aty (o) (female)
2 1500 13/8"26
= 1500 13/8"Z21

(’:"a',".: A(mm) B(mm) C(mm) D(mm)

13/8"26 1555 | 30 35 ®203
13/8"26 555030 35  ®203

NoaswN s

Description
Complete bolt & Spring
Complete bolt
Hub with flange
Friction disc
Plastic bearing
Flanged spline
Pressure plate

Email

No s wN

Description
Complete bolt & Spring
Complete bolt
Hub with flange
Friction disc
Bushing
Flanged spline
Pressure plate

Tel 75767 E-mail



P97 P98
STANDARD PROFILE FOR AGRICULTURE SPLINES PTO ADAPTOR
Name _ Spline(female) Spline(male) Drawings Name Drawings
00.18.028°A 11/8" 26 140
00.18.028'8 13/8"26 160
A 00.18.028°D 13/8" 221 160
13/8" 26
S 00.18.028°G 8-32x38x6 160
00.18.028°C 1314”26 175
00.18.028°E 13/4" 220 175
00.18.02D'B 13/8"26 160
o 00.18.02D°D 13/8" 221 160
00.18.02D*G 13/8" 221 8-32x38x6 160
8/EZ6 00.18.02D*C 1314”26 175
00.18.02D°E 13/4" 220 175
00.18.02C'B 13/8"26 175
00.18.02C*D 13/8" 221 175
c 00.18.02C*G 13/4"26 8-32x38x6 175
00.18.02C*C 1314”26 175
13/4"-26 00.18.02C*E 13/4" 220 175
00.18.02E°B 13/8" 26 175
00.18.02E°D 13/8" 221 175
00.18.02E°G 13/4" 220 8-32x38x6 175
o 00.18.02E°C 1314”26 175
00.18.02E°E 13/4" 220 175
dg 8=zl 00.18.02G'B 13/8"26 160
00.18.02G*D 13/8" 221 160
00.18.02G°G 8-32x38X6 8-32x38x6 160
. 00.18.02G*C 13/4" 26 175
00.18.02G'E 13/4" 220 175
Ai3l5a20 Name Drawings
00.18.07B°A 11/8" 26 140
00.18.078'8 13/8"26 160
F 00.18.078°D i 13/8" 221 160
00.18.078°G Tsighzo 8-32x38x6 160
00.18.07B°C 13/4" 26 175
e 00.18.07B°E 13/4" 220 175
00.18.07D*B 13/8"26 160
00.18.07D*D 13/8" 221 160
G 00.18.07D*G 13/8" 221 8-32x38x6 165
00.18.07D*C 1314”26 175
8-32x38%6 00.18.07D*E 13/4" 220 175
00.18.07G'B 13/8" 26 160
00.18.07G'D 13/8" 221 160
00.18.07G'G 8-32x38X6 8-32x38x6 165
N 00.18.07G'C 1314”26 175
00.18.07G*E 13/4" 220 175
8-42x36x7
Tl E-mail Tl 75767 E-mail




P99

PTO HUB&SPLINED SHAFT

P 100

INDUSTRIAL CARDAN SHAFT SERIES

Name I Spline
00.20.A 11/8"26
00.20.B 13/8"26
00.20.C
00.20.0
00.20.E 13/4" 220

Name | Spline
00.19.A1 11/8"26
00.19.B1 13/8"26
00.19.C1 13/4"26
00.19.D1 13/8" 221
00.19.E1 13/4" 220
00.19.A2 11/8"26
00.19.B2 13/8"26
00.19.C2 13/4"26
00.19.D2 13/8" 221
00.19.E2 13/4"220
00.19.BT

00.19.BT1 13/8"26
00.19.BT2

00.19.GT

00.19.6T1 8-32X38X6
00.19.GT2

Length(mm) ]
60/65/80/100
60/65/80/100

60/65/80/100

e ————,
i)

E-mail

Drawings

e

10

12

©®~No s eN

L¥ALL

L+ALL

I

A(mm) | B(mm) | C(mm)
58 30 4-5.00
65 35 4-6.00
75 42 6-6.00
920 47 4-8.00
100 57 4-8.00
100 57 6-8.00
120 7% 8-10.00
120 75 8-12.00
150 90 8-12.00
150 90 8-12.00

150/165 90 8-14.00
180 110 10-16.00

I

D(mm) Cross.
47 ©18X47
52 20X50
62 ©23.8X61.3
74.5 D27X74.6
79.4 27X81.8
84 ©30X81.8
101.5 ®35X97
130 ©39.68X115.7
130 ©42/48X115.7
130 ©45X123
140 ©52X133
155 D57X153

PN

L+ALL

L+ALL

A(mm) \ B(mm) { C(mm)
43/44 22.8
55/57 8 333
55/57 38.7

Cross
©18x47
©23.8x61.3
©30x81.8

7 E-mail



101 ) £ 102

UNIVERSAL COUPLING UNIVERSAL COUPLING

o

VR A 4
A RN

PB-D22-12D-79 PB-S16-8D-40
sl ]‘ T A sy T T f
. RS—— ol Enshub onturion

o K

E L A B K@s9) T  s(h8) Sw(hs) Seres [ D) | E [ L | A B KGs9) T | S(h8) Sw(hg)
20 74 1.5 225 1.4 10 10 PB-S13 6 13 40 13 20
22 79 14 25 4 13.8 12 12 PB-S16 8 16 40 1" 20 2 9 8 8
25 89 15 28 5 16.3 14 14 PB-820 10 20 45 1.5 225 3 1.4 10 10
29 100 18 325 5 18.3 16 16 PB-822 12 22 50 14 25 4 13.8 12 2
32 111 19 36 6 208 18 18 PB-825 14 25 56 15 28 5 16.3 14 14
35 120 215 39 6 228 20 20 PB-829 16 29 65 18 325 5 18.3 16 16
37 128 21 41 6 228 20 20 PB-832 18 32 72 19 36 6 208 18 18
40 145 255 475 6 248 22 22 PB-835 20 35 78 215 39 6 228 20 20
45 163 31 54 8 28.3 25 25 PB-837 20 37 82 21 41 6 22.8 20 20
50 185 35 61 8 333 30 30 PB-S40 22 40 95 255 47.5 6 248 2 22
60 232 49 80 10 38.3 35 35 PB-845 25 45 108 31 54 8 28.3 25 25
70 225 335 70 12 433 PB-S50 30 50 122 35 61 8 333 30 30
80 260 38 80 14 48.8 PB-S60 35 60 160 49 80 10 38.3 35 35
PB-D9S 50 e 310 45 95 14 538 PB-S70 40 70 140 335 70 12 433
PB-S80 45 80 160 38 80 14 48.8
PB-S95 50 95 190 45 95 14 53.8

Tel: +0086-135-88175767 E-mail: sales@cnspeedway.com autotradebiz@163.com Tel Email




	1
	2
	3
	4
	5
	6
	7
	8
	9
	10
	11
	12
	13
	14
	15
	16
	17
	18
	19
	20
	21
	22
	23
	24
	25
	26
	27
	28
	29
	30
	31
	32
	33
	34
	35
	36
	37
	38
	39
	40
	41
	42
	43
	44
	45
	46
	47
	48
	49
	50
	51
	52
	53
	54
	55
	56



